Converting Between ng, ug, mg and g (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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Convert 0.0000000086 g to ng

Convert 8.999 mg to ug

Convert 64 720 000 ng to mg

Convert 27 300 ng to ug

Convert 0.00003792 mg to ng

Convert 120 000 ug to g

Convert 46 120mgto g

Convert 36.3 mg to ug

Convert 0.00019 pg to ng

Convert 6 800 000 000 000ng to g
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Converting Between ng, ug, mg and g (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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Convert 0.0000000086 g to ng

0.0000000086g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 8.6 ng
Convert 8.999 mg to ug

8.999 mg X 10 X 10 X 10 = 8999 pg

Convert 64 720 000 ng to mg

64 720000ng -~ 10 +10+10+10+10+ 10 = 64.72mg
Convert 27 300 ng to ug

27300ng ~-10+10+10 = 27.3 ug

Convert 0.00003792 mg to ng

0.00003792mg X 10 X 10 X 10 X 10 X 10 X 10 = 37.92ng
Convert 120000 ug to g

120000 pg ~+10+-10+-10+-10+-10+10=0.12¢g
Convert 46 120mgto g

46 120mg ~ 10 =~ 10 = 10 = 46.12 ¢

Convert 36.3 mg to ug

36.3mg X 10 X 10 X 10 = 36 300 ug

Convert 0.00019 pg to ng

0.00019 ug X 10 X 10 X 10 = 0.19ng

Convert 6 800 000 000 000ng to g
6 800 000 000 000ng ~10+10+10+10+10+10+10+10+10 =6800¢g
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